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Question 1
Question text

Which theory presented a serious challenge to traditional public administration?

Select one:
a. Bureaucratic
b. Classical
c. Public Choice
d. Decision Making
Question 2
Question text
What is organizational pluralism?
Select one:
a. Different Organizational Arrangements
b. Market Systems
c. Reform Strategy
d. Functions delivered by single agency
Question 3
Question text
What is referred to as market centered strategy?
Select one:
a. Washington Consensus
b. Minnowbrook Perspective
c. New Public Administration
d. Policy Prescriptions



